
 



Preliminary Schedule P-13 (2012-2013)  K-Factor 
1. Half Clover Leaf with horizontal roll.............................................................................. K 3 
2. Stall Turn with ¼ roll up, ¼ roll down ........................................................................... K 3 
3. Roll Combination with consecutive three ¼ rolls, three ¼ rolls in opposite direction ... K 4 
4. Half Square Loop with consecutive two ½ rolls in opposite directions ......................... K 3 
5. Triangle with roll in each line ........................................................................................ K 4 
6. Split S with roll ............................................................................................................. K 2 
7. 45° Upline with 1½ snap roll ........................................................................................ K 5 
8. Reverse Top Hat with ¼ roll down, ¾ roll up ............................................................... K 4 
9. Spin with 2½ turns, 2½ turns in opposite direction ....................................................... K 4 
10. Pull-Push-Pull Humpty-Bump with ¼ roll up, ¼ roll down (Option: Consecutive  

two ¼ rolls up) ........................................................................................................... K 3 
11. Cuban 8 with integrated rolls on top 90° of both part loops ........................................ K 5 
12. Half Loop ................................................................................................................... K 1 
13. Square Loop with ½ roll in each line .......................................................................... K 5 
14. Figure 9 with consecutive two ½ rolls ........................................................................ K 3 
15. Roll Combination with consecutive ½ roll, roll, ½ rolls in opposite directions ............. K 4 
16. Half Loop on Corner with ¼ roll, ¼ knife-edge loop, ¼ roll ........................................ K 3 

17. Figure Z with consecutive four ⅛ rolls ........................................................................ K 4 

  ------------------ 
  Total K 60 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


